THSESAIBOHEIOFT VAL AR REDREERR

ABDFHHBGMHEE L
1=} SWV=FEF)IEH  #EaTm Jom FH(ER)
616 221 44 53 62 996
AKBOFHRBEEEHROANE
(1) B Al
Bt p-q i T  AEDE
579 417 0 0
(2) ER A
EXMER 10K 101€ 201% 301% 401K 504%
27 47 107 259 167 175 127
601X 704% 801t 204% 1001% Wikl E AEDE
42 23 13 3 0 6 0
(3) AT 51
SLV=FET 219 BAE™ 0 ;&JIIET 2
JI#H 56 AT 13 = LLET 0
AT 26 FNJeTh 0 /INIET 4
=k 72 $EETH 19 JI| SHET 4
fTHEM 8 #@JIlm 12 HRHET 1
BRh 1 AEM 10 18 LLI AT 0
FrR™ 47 dt AKX 1 EERDE 2
fREE 4 J\Em 17 ¥ FART 0
hnZEth 9 EXR™ 37 B ETHT 0
Nl 5 =fth 25 RimHET 0
R /NI 5] 12 EHE™ 5 /NEEFFHT 0
Q& 44 [ETH 10 RAERXHM 0
s i 8 E=FmH 8 EEHT 0
P& 9 EEx BT 4 14 )1| BT 1
JEET 8 HEm™ 2 FEHET 6
FAT 14 F)llm 9 FEMET 2
EEWH 16 S\CHEH 40 Z{CHT 5
Bt 43 A™H 5 ¥ FHT 1
AN ] 41 {REHT 3 HMKHET 4
BT 19 =%HT 2 B4t 24
AR 40 £ = LAT 6 SAETE 1
AR 9 A HT 1



